Math343 Quiz 5 Sep 23, 2022

Name: Sdulw
Directions: Show all work. No credit for answers without work.

1. [2.5 points]| Consider the following network.

Express the general solution to this network flow in parametric form.
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2. [2.5 points] Determine (with justification) the set of values for h that make {uy, uz, us, us, us, ug}
linearly dependent, where
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3. [2.5 points] Determine (with justification) whether the columns of the following matrix are
linearly dependent.
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4. [2.5 points]| Is there a linearly dependent set of vectors {u, v, w} such that {u,v}, {u, w},
and {v,w} are all linearly independent? Give an example or explain why not.

‘\/“1 For tagle, U= B]; Ve {ﬂ, w:i‘.(‘l' Smee fuyy W]
A Gre 3 VCL:LL»(}/ ﬁAJ\ w?{?\ 2 g,mﬁ,/,\@} fu\/\/)wz s {w"/ﬁ

a’zpwaL. S w0 Ve s« seodr W,,/Hw},lcy M(/-Zu.f/
v Pre f&;d ove LM.M \Zj ;/t)éf&)w‘{'




